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Rfere
TR A3
FT TEqul adieh
S
frafa o wepmer &1 =1 c 2.9979x 1Pms?*
AR T A e 1.602x10°C
T e G 6.673x 101N m2kg?
EGIENERKIED h 6.626x10* Js
ElES IR ERRIC] k 1.381x 10%JK
TSNS HEA N, 6.022x 10°mol™*
Hreifer T ferdien R 8.314Jmol K-t
SARA 1 FIHM m, 9.110%x10*tkg
2 1 FHAA m, 1.675x10%kg
el 1 FeAHH m 1.673x1027kg
TOFR-STAT & FHAM ST e/m 1.759x 10" C/kg
LT ERERnIC F 9.648x 10*C/mol
Reant faaisn R 1.097 x 107 m*
e = a, 5.202x10"m
RHMA-deesqH fadie c 5.670x 10 W mr2K -4
ERRERKIED b 2.898x10°mK
TR STHRT T TIAD g, 8.854x 102 C2N-m?
Ul g, 8.987 x 1°N m?C?
eI TR T Gaeheiard u, 4 x 10T mA™*
=1.257 x 10° WbA 'm'*
I Suah fHaies

B} Ydiieh =
ST KT AfAh ok J 4.186Jcal
e AgHSHT e 1latm 1.013x 10°Pa
T I 0K —273.15°C
FoTaR diee lev 1.602x109J
TV A | 1u 1.661x10?"kg
golae form St me 0.511MeV
U Sl gedih uc? 931.5MeV
et 9 1 A (0°C qe Vv 22.4L mol™
latm)
e & g 9.78049ms?
(W T, fged g W)
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